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Q1. Choose the correct answer. 1X10=10 S gerne iz ;,6,%. LAy
1. How do the molecules in a solid behave? ?ngfuw{?w:gwﬁfﬁj
(0) © ® SLS 7 e (B)
Jud”,«fdj’d//z_ﬁaz_/(/ Zﬁfu’u?/!%];m&f/?u”’?@l B S GG U G Move randomly
S S Vibrate about their mean positions
Move in a straight line from hot to Rotate and vibrate randomly at
cold ends their own positions
2. What type of motion is of the molecules in a gas? ?LJ”J[J;JL:?W:%K 2
Rotatory motion =/ 5>/ (D) Vibratory motion =7 §.1 (C) ~ Random motion =/ =52 (B) Linear motion /7 ¢ (A)
. Temperature of a substance is: yL,,/gchfggf 3
A b n 240 (D) =l ni#r /S (C) NS -) i ez st (A)
Dependent upon the Degree of hotness or coldness  The total number of molecules in it The total amount of heat contained
intermolecular distance in it
. Heat s the: S ei7 4
EAJE (D) L6720 (C)  The internal energy .41 #1 (B) G S F A ()
The energy in transit Work done by the molecules Total kinetic energy of the
molecules
. In Kelvin scale, the temperature corresponding to melting point of ice ;ngnfjggbu@;gb;zu:fu}[ 5
is: ’
+273 273+ (D) -273273- (C) 3232(B) Zero 4 (A)
. The temperature which has the same value on Celsius and ?‘Lmul._{u/“bb,;wjuj,uw*‘ffnjpu/ 6
Fahrenheit; ) i
-45 (D) +45 (C) +40 (B) -40 (A)
. Which one is batter choice for a liquid-in-glass thermometer? ?C.VL;';%L,UIQJ_Z:;:L}L(?&UQ? N
Wets glass #t/ 1t/ 2 (D) Expand linearly »:¢” 54 (C)  Is a bad conductor » /1.4 (B) Is colourless »—itesZ £, 3 (A)
. One disadvantages of using alcohol in a liquid-in-glass thermometer? el ] KL/J’;U/H,C! L}-ﬂ}’éhuﬁé:f 8
<561 (D) QW28 (0  clenx(MOCHELE(B) <& reotodikdmicsls (A)
Its expansion is linear Its wets the glass tube It has low freezing point (-112°C) It has large expansivity
. Water is not used as a thermometric liquid mainly due to: :ad.?,dzJL/;JW/“ML&J%}*}/&Q 9
< £« (100°C) v 561 (D) Lauffiﬂyz’{m ©) ‘Luf}(jfu;%a/!/, (B) Colourless <2 £ e (A)

Alow boiling point (100°C) Non-linear expansion Abad conductor of heat
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10. Athermometer has a narrow capillary tube so that it:

£/ Pt d L 54 (D) ©)
Al it g AT
&S

Can measure a large range of
temperature

Gives a large change for a given
temperature rise

Q2. Write short answers of the following questions.

I . Why solids have a fixed volume and shape according to particle
theory of matter?

Il . What is the effect of raising the temperature of a liquid?
Il . What is meant by temperature of a body?

IV . What is meant by thermometric property of a substance? Describe
some thermometric properties.

V . Describe the main scales used for the measurement of temperature.
How are they related with each other?

VI . What is meant by sensitivity of thermometer?

VIl . What do you mean by the linearity of a thermometer?
VIII . What does determine the direction of heat flow?

IX . Distinguish between heat and internal energy?

X . Can you feel your fever by touching your own forehead? Explain.

Q3. Write detailed answers of the following questions.

1. Describe the main points of particle theory of matter which
differentiate solids, liquids and gases.

2. The length between the fixed point of liquid-in-glass thermometer is
20 cm. If the mercury level is 4.5 cm above the lower mark, what is
the temperature on the Fahrenheit scale?
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